> A
N & o & AF & H A A
202238 & =0l & L BHSI A 3t
S RECI ()
Bu: o5 U BRMMBE
el HASANE 2 (Sl & &)
L=
SA - BB B () - MM - BES Ol &t o San HmEET
=)y 44,926,660 43,164,273 1,762,387
= 43,560
Al 44,883,100
A SRMA2L 2,274,231 1,768,447 505,784
= 6,000
Al 2,268,231
HASANME 2 477,300 497,480 A20,180
Her & ASoa 77,820 97,530 19,710
201 Let24d] 46,800 46,800 0
01 At 22l 33,400 33,400 0
OXEd & =8 350,000& =122 4,200
OAHANO A} &G
100,000 »8H x33| 2,400
OZ4M & S A M Z 16,000, 000& 16,000
OZuAARE = 100,000& 5% 20 10,000
OZ L ALRI& S4AHI 8,000& x5 20 800
02 23224l 13,400 13,400 0
OAyzelZ2 )l RAE+  700,000&+12& 8,400
OAHAAISH MBEEE 5,000,000& 5,000
203 R =& 30,000 46,000 A 16,000
03 A F=XH S =AY 30,000 46,000 A 16,000
OXgdy 43t & 228 30,000,000 30,000
301 LA F 520 520 0
12 JIEtE 43 520 520 0
OZ L A& AHIEdS 520,000& 520
307 gl2tol & 500 500 0
12 QIO & = H| 500 500 0
OZ LA & fIEn=H| 100,000 x5 500
SARI JANE 2¢ 23,800 24,270 AN470
202 o4dl 300 770 A470
01 = LH o4 1l 300 770 AN470
O=AR)| 248 300,0008! 300
203 YR =2l 5,000 5,000 0
03 Al Z=A Y 2= 5,000 5,000 0
O/ AL AHZ=AHR =AY 5,000,000& 5,000
207 Ao 2| 18,500 18,500 0
01 2289 18,500 18,500 0
OMPEDM(HREA L AH) 2E 824
18,500, 000& 18,500
SE3YF3Fd 370,680 370,680 0




M 3

a5 L BRUHLE
 —

el HASANE 2 (Sl & &)
(o
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
204 AR HH| 370,680 370,680 0
03 EZYREHI 370,680 370,680 0
OSEYR ==& &3H| 370,680
-Her g sl 50,0003 «525H «12& 315,000
-SMNEESRE 80,000& x7H « 122 6,720
-NREEERE 100,000& »27H 128 32,400
-HMEEESRA 150,000& x6H «12& 10,800
-SRECLHNEEERE 60,0003 x3H 128 2,160
-HESEEE SRR 100,000& x2H x12& 2,400
otrssttiti S =t 50,000 x2H » 128 1,200
SAHASE F2st 5,000 5,000 0
201 Let2d] 5,000 5,000 0
03 & Ar2 I 5,000 5,000 0
O=AHEEA A&2s AAS 5,000,000 5,000
SN EEF e 48,600 63,600 A 15,000
SHMA 2t 40,500 55,500 A 15,000
201 2et24d] 39,500 54,000 214,500
01 At 22l 19,000 19,000 0
OZ|MA LEHE) Y =2222 S
10,000, 000& 10,000
OMBAIZ2AL S 2 650,000& »12& 7,800
OZSWLAIE slolassy
100,000& »3H *43] 1,200
02 =224l 20,500 35,000 A 14,500
OFEEs gy |l , dJd A8, 52
s SN2l 15,000, 000& 15,000
O=&cld A MSAZA 29
5,500,000& 5,500
202 Odl 1,000 1,500 A 500
01 = LH 4 Hi 1,000 1,500 A 500
S M SEZA 1,000, 000& 1,000
32l 8,100 8,100 0
201 L4l 8,100 8,100 0
01 At 22l 8,100 8,100 0
ORFID2IHYI 88=Z20d sl
5,100,000& 5,100
O=2E228 L =2 1,000,000 1,000
O23Zel 8N 223 2,000,000& 2,000
SEEXNE |RA2e 123,000 84,800 38,200
= 6,000
Al 117,000




2N
X ZH -
L= B

el

SA B ER(EN) - AR - BES of & o4 San HIDZ2
SEXE 2l 53,000 84,800 A 31,800
201 £et23E | 51,000 80,000 229,000
01 At 22l bl 6,000 12,000 A 6,000
OE8E(XHY)S W2 LTEIL22
2,000,000& 2,000
Oz S8z &€ =XU8 S 4,000,000 4,000
02 5524t 45,000 68,000 223,000
O3gxgsFdl(100) 20,000,000 20,000
o=sxz 2= (1000) 6,000,000& 6,000
O3gxg |XIHI(100) 15,000,000 15,000
OXs XA (10TH) 2,000,000& 2,000
OXed SEFA & LA A==2(100)
1,000,000& 1,000
OC3dNdRE3(TRATH) 1,000,000& 1,000
202 o4 Hl 2,000 4,800 2,800
01 SO HI 2,000 4,800 22,800
Oxg=da AMgAa 82 =& 2,000,000 2,000
SIS A FOHAA 70,000 0 70,000
= 6,000
Al 64,000
405 THatFH S 70,000 0 70,000
= 6,000
Al 64,000
01 MM =S FHSH 70,000 0 70,000
OSExtE uM-Y 70,000,000 70,000
= 6,000
Al 64,000
FAMAE X 1,625,331 1,122,567 502,764
A=A 2el 874,331 859,567 14,764
101 @124 8] 135,531 134,157 1,374
04 JIZtNZ22XNSE+ 135,531 134,157 1,374
OAEA A2l (4Y) 122,921
-2 1,914,440 x4 B« 128 91,894
-HEYS 137,940 4 122 6,622
—HAEZ2Z2E 14,7303 *3A 2t x5F x4 H 12 10,606
S 22RsY 14,7303 *8Al 222 x4 H <128 11,313
BN E= 1P S 78,5603 x4 H «6L 1,886
-l =Hl 150,000 »4& 600
OFCEgs|ody ZAr2e (1g) 12,610
-JI22(24A12H/59) 961,800& x 12« 128 11,542
-HEdS 69,300 x1H 128 832
PN =P Sl 39,2803 x1H 6L 236




M 3

a5 ¥ BRHL2E

S IMAE 2/ (22 &d)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
201 fEt2E | 716,500 692,780 23,720
01 At 2t 2l bl 79,400 79,680 A 280
O&IIAE A F A HI 600,000& »12& 7,200
OaxAIE HEEFHH 550,000& = 12& 6,600
OsZIIAE EE A 500,000& ~12& 6,000
odg = (dHld,Z=21) 1,300,000&*12& 15,600
OFAx & RdEs3 7¢ 20,000,000& 20,000
Ot et & HAI=S WAHbl 2,000,000& 2,000
OAME=RA 2 22FH| 8,000,000& 8,000
OJIA 7, 8,832 & =44l
13,000,000& 13,000
O25 A 22|88 Fe| 1,000,000& 1,000
02 3524t 637,100 613,100 24,000
OIS 210,000,000& 210,000
OZAIAR S 35,000,000 35,000
Odot=Es 30,000,000& 30,000
O2s 2t AL 22l 4,000, 000& 4,000
Od=s=U=R F4LS9H| 21,000,000& »22 42,000
O U RUE HABAY
14,000,000& *12 14,000
OB2A Wea)| M2 BA9H
5,000,000& 13| 5,000
OM=ZX 42 3,400,000% 23] 6,800
O8stx =HE 1,700,000& 33| 5,100
Ogxs € Mall=7 SHAE2IHI
233,000,000& 233,000
ONSHHISYI (A5, @I, 01, 28, Wy,
M S ANEKRXH) 30,000,000 30,000
OoOgAdAr=sH(HESLA) 350,000& ~12& 4,200
OB2LHY 2 oY 2oLs
500,000& »33| 128 18,000
401 AIEHI L 2CHYI 7,300 0 7,300
01 A& dl 7,300 0 7,300
OdpA=zZ dae S 7,300,000& 7,300
405 THatF S 15,000 31,650 A 16,650
01 B Y S EH S 15,000 31,650 16,650
OFM 2 A 2BEIY(B42E Ha)
15,000,000& 15,000
BAMAEE 130,000 263,000 A 133,000
401 AIEHI YL 2CHYI 130,000 263,000 A 133,000
01 A&l 130,000 263,000 133,000
OEAAIE R X 22l (PooL2t2l) 110,000




2N
X ZH -
L= B

el

=i ()
A X SHFMHa 2L
FAAE FX

SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
-23ANE 2 FXH| 14,000, 000& 14,000
A2 014 S MEFU XU (219X <
SoYsydy 28 96,000,000& 96,000
OFA HIIVHBA(HIBALE)
10,000, 000& *23| 20,000
sSUs dFSXNMH A= 491,000 0 491,000
401 Al Bl 2B 491,000 0 491,000
01 A& HI 490,000 0 490,000
OsUs dF=XdYH =5 490,000,000 490,000
03 Al =20 HI 1,000 0 1,000
OsU=s dEF=EXHH &= 1,000, 000& 1,000
s SAAIE A 130,000 0 130,000
401 Al Bl 28I 130,000 0 130,000
01 A& HI 130,000 0 130,000
OZgds =XAd E 130,000,000 130,000
HY2AZ Yl (3 H D) 38,756,487 38,135,474 621,013
= 37,560
Al 38,718,927
CIHARIH(ZHL_ANBZ) 38,611,527 37,977,234 634,293
= 37,560
Al 38,573,967
HFOIALI (S HU_AIBSZ) 37,231,303 36,579, 161 652,142
101 124 dl 37,231,303 36,579, 161 652,142
01 2= 34,959,159 34,352,617 606,542
O==(638Y) 25,595,981
“ANE (R 8,303,500 x1H x12& 99,642
“EAF(ASH) 7,648,500 x 1« 123 91,782
43 (HS8%) 7,625,8303 4H 122 366,040
-5z (HE7) 6,312,490& 38K 123 2,878,496
632 (275 8) 4,235, 1003 *177H 122 8,995,353
-72(1638) 3,259, 100& x173H 123 6,765,892
-8= (98 2) 2,408,800 152 x12& 4,393,652
9= (45 8) 1,773,600& 89K x 12& 1,894,205
-HFRAH(20ES) 3,746, 7003 x1H x 123 44,961
-XNEAHBEE) 2,289,500 x1H«x12& 27,474
-MEZdEE L2 (1588)
3,207,000 x1H+12& 38,484
Oo&Fz2=+¢ 22,160,018,400& *1/12%45%*23| 1,662,002
Ons=¢ 468,000
-t < Xt 40,000 *400Y x 128 192,000
-2 2E 20,000& 400K 123 96,000
=M A 60,000& 2008 x12& 144,000




S 8D
Mz HMSAHH (3 AHW)
SRl QlE2HHI (S HS_AISZ) (&2 &)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
ol IDNIE 100, 000& *30H »12& 36,000
OOt 1,000,000& 20 x12& 240,000
OFZFYIHa3 438,000
-204 0] &t 100,000& x195H ~12& 234,000
-154 0] & 204 0] 2F 80,000& x70H x12& 67,200
-108 0l & 1543 0] BF 60,000& x90H x12& 64,800
-5 014 10 0] 8+ 50,000& x120H ~12& 72,000
O&Z2xY =it 3 58,200
-254 0] &t 30,000& 145 «12& 52,200
-20H 0| &b 254 0| BF 10,000& x50 12 6,000
Oles2d =< 264,837
43U (523082)
4,973 ,900& *4 . 1%*2H ~12& 4,895
53U (62285 2)
4,271,300& x4 . 1%+80H x12& 168,119
-3l (72185 2)
3,393,300& x4 . 1%*x55H 128 91,823
ORegz224 14,400
-2 50,0003 x 12 = 7,200
-4 = 40,0003 * 15 x 7,200
OJlsdgxd 64,200
-53 50,000& «10¥ x12& 6,000
-6-73 30,000& *120H = 12& 43,200
-8-92 20,000& 60 x12& 14,400
-Xl & Ab 50,000& *x1& x12& 600
OJIsd=2+4Y Jiit= 45,360
=J|l= At 50,000 3 x12& 1,800
-Jls&,JIA 30,000& 90 x12& 32,400
A= PIPN; 20,0003 x40H = 12& 9,600
-2 /HHI A2 (6-72) 10,0008 +5H x12& 600
-2 /AU A2 (8-92) 20,0002 4 x 122 960
Oz 15,000
-2= 9| Ab 250,000 »2H x12& 6,000
-2tS A, 2 E D] Ab 50,000& «15H x12& 9,000
(@) Singes Ry 960
—-&H0fl o 2 A 80,000& x1H x12& 960
OExdRE 226,080
ANSIEXNSE RS 70,000 x100H 12 84,000
A EXERY It 3
30,000& *70H = 12& 25,200
-0IAL R 50,000& x35H x12& 21,000
~ME2XALS(3EH0l4) 250,000& *3H 122 9,000
-MNAE 22 (620I6F) 20,0002 +«10Hx12& 2,400




M 3

Mz HMSAHH (3 AHW)
SRl QlE2HHI (S HS_AISZ) (&2 &)
SH-HH . B(SH) - HBAMY - B2 ofl &k o San HDE2
-S2FY 70,000 x90H x12& 75,600
QI3 AIR S 8,880
- 532 80,000& x2H x12& 1,920
- 62 60,000& *3¥ x12& 2,160
72 0|at 50,000& *8H x12& 4,800
Oxlz224 1,918,217
-53 14,2153 x2H x30A| 2t x 128 10,235
-632 12,1242 x177H «25A| 2+ = 12& 643,785
-72 10,952& 173 x25A| 2tx 128 568,409
-82 9,832& x152H x25A] 2t x 128 448,340
-92 8,887 & *89Y x25A| 2Hx12& 237,283
- 11,6863 x1H *x25A| 2t %128 3,506
-X b (2052 0l35t)
10,7143 »1H x25A| 2t % 12& 3,215
-NE2EE"E 11,4773 x1H *25A| 2tx 12 3,444
OoREzB2d 50,000& x13¥ x12& 7,800
OFHZ A 140,000& x638H ~12& 1,071,840
OY & FIHy| 22,160,018,400& *1/12%60%*23] ,216,002
O I At Y|
5,496,335,680& *1/12%86%+*1/30%x 10 609,080
OoHlazZ22=+ 8,000& *»450H x12& 43,200
02 DJ|Et > 272,144
OF= 453,387
-=23((79) 331,400
40| 2H(285 2)
3,842 ,600& x5 x12& 230,556
SE2) 4,201,800 2 x12& 100,844
-5 331,399,200 x1/12%50%*23] 27,617
-Jt 6,720
40,000& x6H x12& 2,880
20,000& =108 x12& 2,400
60,000& x2H x12& 1,440
-3 8,400
- 204 O] & 100,000& »7H x12& 8,400
~8329FIit 32 2,280
- 25 O] & 30,000 x6H x12& 2,160
- 20 0l & 25 0] 2F 10,000 x1H »12& 120
—HAGE Y 360
CEHAAHEH LG (XH) 30,000& *x1H =128 360
—EUZ2RY 23,793
HAZE F9I(63)
11,0253 x2H «25A| 2tx 12 7,155




2N
X ZH -
L= B

el

=i ()
#H2HZH (3 AHD)
IHA2HHI (A A _ASZ)

5 - 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
TEAZE BAN(3)
11,0023 «5H «25A| 2t 128 16,638
- UG A 140,000& »7H =123 11,760
-2 2 F Ol 331,399,200& *1/12x60%*23] 33,140
-H L2 &Y
331,399,200& *1/12+86%+*1/30*10 7,917
OYIIH 1,762,237
-==(43%) 1,433,462
LBrAIIH (52) 5,913,330 18 =128 70,960
- LBHADIMI(72) 4,253,110 «3H « 128 153,112
- ABHADIHI(82)  3,416,020@ x6H 128 245,954
AT (92) 3,223,160 x2H » 128 77,356
AN2HE A (LE =)
3,959,410« 1H «12& 47,513
A2EE DR (CH =)
3,469,170 2P« 12& 83,261
A2 DR (2 =)
3,308,250 x5« 12& 198,495
A2 DR (0 2)
2,017,430& 23" x12& 556,811
b s 32,400
b < Xt 40,0003 x25Y x128 12,000
CRUIE 20,0003 308 «12& 7,200
- SEMAH 60,0002 x10H «12& 7,200
- AU AHA 100,000& x5 122 6,000
—ozgoig 31,488
O Ak 1,312,000 »2H 123 31,488
-S4 LY 42,532
Al 2H BT
2,381,930% *84%*5%*40 Al 2+ /35 Al 2H+31L * 42,532
128
—EU2RE 121,102
LBrAINH (52)
14,1253 x 1Z +20A| 2t+ 128 3,390
LAINH (72)
10,9523 x3H +25A| 2t + 128 9,857
L erAIH (82)
9,832 x6H +25A| 2tx 128 17,698
LBEAIIH (92)
8,887 x2EH «25A| 2tx 12 5,333
AP SR DRI (L)
12,1243 x1H «15A| 2t+ 128 2,183
AP SR DI HI(CHS)
10,9523 x2H +25A| 2t+ 128 6,572
AP ER DRI (2t =)
9,832& x5 «25A| 2tx 12 14,748




M 3

FM: HH2LZH (S H D)
chel: A2 H| (S HU_ANBSZ) (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
“AI2EE ERA DA (CH2)
8,887 & x23H x25A| 2tx 123 61,321
- UG A 140,000 43 » 122 72,240
- JtE &l
1,445,819,880& *1/12%84%*86%*1/30* 102! 29,013
OS2 AAN dzgsdd=s
900,000 x4 x12& 43,200
OZEBAOA S@224+g
50,0003 x4 x12& 2,400
OZBSEHYAMN FINSIRESEAHAS
45,0003 x200 9,000
OHlaz=2f =% 8,000& x20F 123 1,920
SMNOIHH (S HD_ABSZ) 1,342,664 1,352,556 A9,892
204 MR F | 1,342,664 1,352,556 A9,892
02 22 X2l 1,342,664 1,352,556 A9,892
O&g 2=t 1,342,664
K] 500,000 x 1 «128 6,000
“2AE 310,000& x1H 128 3,720
= 400,000 x4 x128 19,200
-5 250,000& 38K+ 12& 114,000
-6= 165,000& x 180K x 12& 356,400
7= 155,000& x173H 123 321,780
-8-92 145,000 x241H x12& 419,340
-HALE ZBL(62) 165,000 »2H «12& 3,960
~HAGE ZA(TZ) 155,000& x5H 123 9,300
-2BHADIH 5= (4= 4Y)
400,000 x 18 128 4,800
-BHADIH 7= (624 Y)
165,000& x3H 123 5,940
-2 BRI 8= (724 Y)
155,000 x6H 123 11,160
-2BHADIH 9= (824t Y)
145,000 x2H 123 3,480
“AN G ERADIHI(LEZ =35A12H)
218, 7503 x 18 128 2,625
“AN 2 ERADIHI(CHE =35A12H)
144, 3703 x2H « 123 3,465
“AN 2 ERADIHI (2t 2 =35A12H)
135,620 x5H 123 8,138
“AN 2 ERADIHI (0= =35A12H)
126,870 19 » 128 28,927
“AN 2 ERA DI HI (0= =33A12H)
119,620 x2H x 123 2,871
“AN G ERADHI (0= =25A12H)
90,6203 x1H 123 1,088




S RECI ()
M HHE2HZAH (S AL)
el lE2HHI (AT _ANSE) (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
—AIREL A DA (OtE ==20A12H)
72,5003 x1H « 128 870
-SLAHFI 20HA 300,000 x1H =123 3,600
-6= Ol ot It A 100,000 4 «12& 4,800
- F XA 600,000 x1H «12& 7,200
IIEAAHSSAIR M Bl XA (12d]) 26,108 31,782 A5,674
= 26,108
101 1Al 26,108 31,782 ND,674
= 26,108
01 2= 26,108 31,782 A5,674
OIS AHSE 2 Al 26,108,000& 26,108
= 26,108
CAMNS HE#ZH X2 (e124d]) 11,452 13,735 A2,283
= 11,452
101 @124l 11,452 13,735 A2,283
= 11,452
01 2= 11,452 13,735 A2,283
OAYR Al 11,451,580& 11,452
= 11,452
Jl2ZH (AL _ANSZ) 122,360 122,360 0
Jl2ZHl (AL _ASZ) 122,360 122,360 0
203 ¥ S =&l 40,700 40,700 0
01 JI122L 2= 40,700 40,700 0
OJI228 YR =al 40,700,000& 40,700
204 AR A H| 81,660 81,660 0
01 ¥R 81,660 81,660 0
OXMZ LR F Y| 81,660
-ANE 975,000 x1H «12& 11,700
-FANE 600,000 x1H «12& 7,200
= 350,000& x3H «12& 12,600
S5S(BALE AL AZE SF)
150,000& 11 122 19,800
S5Z(UE ME2ALH) 100,000 24 H «12& 28,800
-HEMb=2sHE 80,0003 x1H »12& 960
OS2 A (63) 50,000& »1H =128 600
Jl=2Z2HI(3 A ) 22,600 35,880 A 13,280
Jl2Z (3 A2 22,600 35,880 A 13,280
201 Yet2 | 15,000 15,000 0
01 AF2 22l 15,000 15,000 0
OFNM2I AR 22l 15,000,000& 15,000
202 044l 4,000 17,280 A 13,280




M 3

M HHE2HZAH (S AL)

o2l Jl2F (3 AH D) (&2 &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
01 2LHHI 4,000 17,280 AN 13,280
OJlegessiodl (18Y) 4,000,000& 4,000
203 R =&lY| 3,600 3,600 0
04 ENESIHRF=AY| 3,600 3,600 0
OBMNSYHLE=XHI(20210]0l)
300,000& x12& 3,600
HEES (3 HD) 3,895,942 3,260,352 635,590
HEHHXI= (3 H ) 3,895,942 3,260,352 635,590
MEAI 28I I=2 852 3,895,942 3,260,352 635,590
702 0|128&E2 3,895,942 3,260,352 635,590
M Jl=d&E=2 3,895,942 3,260,352 635,590
ONEAMNAHE D2 HES 3,000,000,000& 3,000,000

O3=Met s S 895,942,000 895,942




